Selection pp— 888~ bW X1  pp 8§~ aqVAi pp—~ 888 bW X pp— 838 aqVal
mg = 1500 GeV g = 1400 GeV mg = 1100 GeV g = 1000 GeV

Mg = 100GeV My = 100 GeV My = 700 GeV My = 800 GeV

Nt > 2 1000 £ 00 100.0£0.0 “100.0 £ 0.0 99.7£0.0

Hr > 300 GeV 100.0+ 0.0 100.0+0.0 98.5+ 0.1 70.1+0.1

HIF'ss > 300 GeV 774+ 05 733+03 31.6+ 0.2 13.8+0.1
Ninuon = 0 56.0 £ 0.5 614+04 255+ 0.2 115401
o racks = 0 53.0+ 0.5 611404 247402 114£0.1
electron = 0 39.7+ 0.5 50.0 0.4 19.9+0.2 9.6+0.1
(electron) e =0 36.8+ 0.5 49.3+0.4 19.14 02 93+0.1
Nadrom =0 348+ 0.5 47.7+£04 184+ 0.2 8.840.1
Ay ;, > 0.5 340+ 0.5 46.6+0.4 183+ 0.2 88+0.1
Ay, > 0.5 304+ 0.5 422404 171402 7.6+0.1
Ay, > 0.3 28.0+ 0.5 39.5+04 162+ 0.2 6.740.1
Ay, > 0.3 259+ 0.5 37.1£04 151+ 0.2 6.0£0.1
Event quality filter 257405 36.6+0.4 150+ 0.2 59+0.1



